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The ﬁgurés in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x10=10
O SRS BT fiat ¢

(@) If a matrix has 8 elements, what are
the possible orders it can have ?
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{b) What is perpetual é.nnuity?

oz fEF &2

(c) State True or False :
ey @ e B e

“In LPP, all variables may not be
positive.”

“(ARR eI IPTIS, ARG 5 LeRs F298
A |”

(d) Fill in the blank :
AT 2 7= A 3

J‘axdx: S L

(e} In aratio a: b, if a> b, then it is called

a ratio of inequality.

(Fill in the blank)
3 GO SAS @ : b, a> b, (O 2T

SIS @ 57 |

() The n™ term of an AP is 3n—5. Find
the 15 term.

Bl T AT n ON sl T 3n-5|
2OIfOCOIR 15 O #me5t Fef =4 |

(g) If interest is compounded half yearly,

what is the formula for finding
amount ?

7T IR Y0 b Rb1ee 1ot et g forgen
e 3=t ot e

Given (Fi wieg) -

A= Amount (jfémre)
P= Principal (yt)
7= Rate (<5 2)

n=No. of years (I=9)

() Define limit of 4 function f(x) at x= a.

| X=a9 f(x) TR AR wew T

(T 912 2139 )
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() Fill in the blank :

AR SR 2R 9 8

a (TR) =
dx
where x denotes the volume of output.

TS x @ Serifre ANTE o

(i) Write one difference between matrix and

determinant.

GeTe o6 el siero Wbt =il &

2. Answer the following questions : 2x5=10

o ZRITEIRT Oed WAl 8

(d) A man spends 85% of his income. If

his saving is % 37-50, find his salary.

e (2 (96 W 85% U I (A2 |

87:50 Tl A1 A | odq gy el 91|
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(b)) 1f @)

x+3y y srasr=l

(eboeid| BN ORe
find the values of x and Y.
X 9% y I I Sejeq) |

(c) Divide Rs. 52 among A, B and C in the

ratio %%%

52 T9IF A, B W% cam’%;i:%
ST ©ls 3 | '

w

(d) What sum of money will yield ¥ 1,407
as interest in 1_% years at 14% Dia:

simple interest.

=R 14% T 7S 5 ARl e 11 2eey
I© 1,407 51 279

(e) Evaluate ([ )
im VI+2x - J1—-3x

x—0 G

Contd.




o

Answer the following questions : (any four)

5x4=20

O [epicAl bifol 2 O i ¢

1
(@ If @) A= [2

(b)

e L

and (%) (A+ B)* = A% + B2,
find the value of a and b.
((STH a O b TF Fefa <)

The cost of computer is 2 1,00,000 and
its life period is estimated to be 2_0
years. After 20 years, the computer is

,expected to cost more by 20% over its

present cost. Find the sum to be
invested every year at 5% p.a. Cl for
20 years to replace this computer.

@ FEACHRE 70 1,00,000 5 O ZAN

FIGRIET 20 T 61 A1 (0= 20 IS AL |

B3R T 20% Ja 219 | FT6R05] 20 T4

oAIs AR TR T 2 A B ARAE |

(c) The total cost function for producing

(@)

X units of a commodity

TC = 300x - 10x? +é—x3.

Find the output levels at which the
marginal cost is minimum.

Xx IRYP AN SAMTR, Jo SANT T o

TC = 300x —10x2 +?31—x3.

Wmﬁ@aﬂmﬁmmﬁ?ﬁmw
' o 1|

A bicycle agent allows 20% discount
on his marked price and makes 20%
profit on his outlay. What is the market

price of the bicycle on which be gains
Rs. 240 7?

G GG Reeeiz fiHle 379 esio 209
@2 TR st R SATO 20% IS

PR | I BREF 4TS 240 91 77re T, (orw
5l <2 5% b 0 T 9’4 A, Fefe | ' R Bl o R
| |
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(e) If the pth, gt rth term of a GP are 1 : OR / g4t
X, Y, z respectively then prove that 1

Sl , S. (a) Examine the continuity of the following
X 2 =1. 1 function at x=3: 5
b} SEANET ST p o, g©s, row o G ‘
XY,z 2@ AN S @ . X = 3 3 9T B 9] 00 SikifBeero Gk
Ll 27 ;1 l I‘ SRRy
() 1f @) z=3x -5x%y +243, x229 " 2
. R P
| ' b)) SR e
show that (&4 <) xa—z+ yiz— = 3z i f( ) i
o0x oy | Gl et i et
4. (a) Integrate (SFFEH F10) 2 2Vo+2Y=5
.. dy dy Aed o
(&l o G A e
Jx ,
i ) y=e~logx
(i) [(6x+8)v3x® +8x+2 dx
! ) @ y= x>
(b) The marginal revenue function of a
product is MR =8+5x-x?. Find the
t(_)tal revenue and the average revenue, ' 6. (a) Define linear programming’ and state
| Sierielis =8 28when X = 5. S its limitations. 4
<51 AT elifes [l oy oy 2 | :
| QR e vkt i i S S
MR:8+5x—x21(:wCE'qbﬁ%W€W | Sy ; W 3
M e oI Ry < | firn iy 7R = 82 |
WM x=5|
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(b) Solve the following linear programming

problem by graphical method : (6} P4 SWS : 2181 5" A9 tige i
| NG B RieE Tow s BniRe s i

A (@%@ FHHICE! (51 Aamtecd AN A SIS T 292

) 4

(b) A man invested 52,000 on % 100
shares at a discount of % 20 paying 8%

| : dividend. At the end of the year he sells
subject to (Fg ACATTF) : 2x +y <500 ’

x+y <250
x <150 1 Find —

>0 : '
X, Y ! _ (i) his annual dividend ;

Maximize (5@ = 7@ F1) Z = 8x +5y

the shares at a premium of 2 20.

(i) the profit earned. 5

OR / @3l GE IR (98T 52,000 T 100 T 7e

A 718 20 B ({RR TS 8% FeHISeTS LG |
RIT (IO (D€ FIAR@RE SN g 20 5
fEgRe [l FE|

7. (a) Two mixtures A and B contain glycerine
and water in the ratio 4:5 and 3:2
respect'ively. How many litres of Bmust
be mixed with 81 litres of A so that | (0% [T 9 —

resulting mixture may contain equal () CoST T2 ASIH ;

|
uantities of glycerine and water ? | "
0 i | (i) (€9 I U
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8. (a) Solve by Cramer’s rule : )
(AR 2799 RIS T F41 ¢
X+2Yy—2=3

3x-Y+z=38 .
x+y+z=0

(b) If (@MW) Az[o :

. 'O] and (S0<F)

I =Ll) (1)} prove that (&=id <1 (@)

(aI +bA)® =a’I +3a’bA S
"OR [ 544}

9. (a) A contractor undertook to build a house
in 21 days and engaged 15 men to do
the work. After 15 days he found it
necessary to engage 9 more men and
he had finished it 1 day earlier. How
many days he would have been behind
time if he had not engaged the
additional men ? ; )
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qgee emits 21 free @Bt SN TR f=ie 15
O R G BRCE | 15 {1 A1z (06 et
9 T WHZ A R PN AR 1 fa=
SR T SR | T Aoz ez st

| 20, S R R e (1 SRS e 2

A man borrowed % 9,000 to repay the
amount with interest of ¥ 1,000 by
monthly instalments decreasmg-
successively by ¥20. In how many
months was the loan repaid, if the first
instalment of ¥ 640 was paid one month

after the sum was lent ? 5

RS e 1,000 5 o= AfReiy 1=
HRFS 9,000 TSI @Bl 39 & GO ez
o} AR SO TR 20 T/ T RBEE
7 sier| Tt 5/ 4 (IR GRS Prere siaw
g 640 1 ARCNY =1 &fee, (o
G e WRe A0 ARCy e g
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